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CALCULUS

ACCUMULATION



	The distance along a straight path from the fox’s den is given by 
[image: image8.emf] in feet.  The fox is at the den entrance at t=0 seconds and 
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 feet when t=3 seconds.

	Graph
	Communication

	The graph below is 
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 on [0, 3].
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	1. At what time t is the fox’s position the farthest from the den on the interval [0, 3] seconds?  Explain you determined your answer.
2. Use the graph to estimate the time t when the fox is back at the den during the interval [0, 3] seconds?  Explain you determined your answer.
3. What does the value of 
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 represent?
4. What does the value of 
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 represent?



	Analysis
	Analysis

	1. Use the Riemann sum trapezoidal rule with 6 equal intervals to estimate the value of 
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. Show you work. 

	1. Evaluate 
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.  Compare your answer to your Riemann sum that you found in the box to the left and explain any differences.
2. Find the total distance traveled by the fox.  Justify you answer.
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